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45672 |10mKiH | B ER® HY (BETIEARL) 7R15H HY (BB - REMERI6L) L
45673 |10m%KTH | B4 IR HY (BETIEARL) 7R178 HY (BB - REMEHRL6L) L
45674 |604% Bk KT SRR 7R14H - E=van=|
45675 |401% 7k BRREMERN HY (BETIEAWL) 7A17H - 2N
45676 |10m%KiH |BIE SRR T HY (BETIEARL) 7R17H HY (BB - RBEMERL68) L
45677 |30% 7k by IR 7H20H HY Eyan=|
45678 |401% og SR AT HY (BETIEARL) 7R 18H Y E=van=|
45679 |10m A |Z1E EIR™ HY (BETIEAWL) 7A15H HY) 5L
45680 |10F%RiH |t ER® HY (BETIEARL) 7R 18H HY L
45681 |201% 7k =ARET HY (BETIEAWL) 7H18H HY BilzN: =]
45682 [104% og ER® HY (BETIEARL) 7R19H - L
45683 [20£% pog SRR T HY (BETIEARL) 7R18H - £it8
45684 |401% og ER® HY (BETIEARL) 7R 16H HY (BB - RBEMERI6ET) BileS:a=]
45685 |601% B IR HY (BETIEARL) 7R17H - AL
45686 |401% og S R RGEFTE P HY (BETIEARL) 7R 18H Y BEZ
45687 |10 A |tk BRREFTERN HY (BETIEAEW) 7H18H HY (HE - RENEKL68) 7L
45688 |404% 7 R HY (BETIEAEL) 7819H - N 3=
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45689 [201% pog KT HY (BETIEARL) 7A198 - £it8
45690 |104% Bt EIR™ HY (BETEEW) 7H20H - N3]
45691 [801% B SRR T HY (BETIEARL) 7A19AR - AL
45692 |604% S BRREFEN HY (BETEEW) 7TH17H HY) E=gan=|
45693 [701% pog SRR T HY (BETIEARL) 7R 18H ) B L
45694 [801% B BT HY (EETIEARW) 7R 18H - L
45695 [201% pog SRR T HY (BETIEARL) 7A198 HY EilzN:3s]
45696 |90FE M+ |B M NIEFH HY (BETIEARL) 7R17H HY L
45697 |10m A |Z1E EIR™ HY (BETIEAWL) 7HA19H HY) 5L
45698 |304% 7 R HY (BETIEAEWL) 7816H &HY) BilZNi3=]
45699 |10F%ARM | %tk BRRBIEN HY (BETIEARL) 7R18H ) L
45700 |10/ |1 IR HY (BETEEW) 7TH17H HY 3L
45701 |104% 7k EIR™ HY (BETIEAWL) 7A17H HY) TSk
45702 |304% 7 R HY (BETIEAEL) 7815H &HY) mL
45703  |501% i BRREFTERN HY (BETIEEW) 7TH17H HY A N
45704 |104% St IR HY (BETEEW) 7H19H HY 3L
45705 [20% St B4 (RARBAEN) HY (BETIEAWL) 7HA19H - 248
45706 |3014% 7 R HY (BETEEW) 7H19H HY) E=gan=|
45707 |204% 7k EIR™ HY (BETIEAWL) 7H18H HY Eyan=|
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45708 |10m A |B1E BRREMEN HY (BETIEAEWL) 7H18H - L
45709 |10m%KiH |BIE KT HY (BETIEARWL) 7A19H - L
45710 |10m A0 |B1E EIR™ HY (BETIEAWL) 7HA18H HY (HF - REMEKL6ET) %L
45711  |404% 7 R HY (BFETIEAL) 7816H &HY) mL
45712 |10m A0 |B1E EIR™ HY (BETIEAWL) 7A17H HY) 5L
45713 |10/ |2 R HY (BFETIEAL) 7816H &HY) mL
45714 |304% Eeg s ER™ HlY) (BETIEHRW) 7B17H HY) W= bR ~—
45715 [304% og ER® HY (BETIEARL) 7R19H Y E=van=|
45716 |104% 7k EIR™ HY (BETIEAWL) 7A19H - E=yan=|
45717 [204% B ER® HY (BETEARL) 7R 16H - E=zan=|
45718 [30f% S SRR T HY (BETIEAWL) 7A19H - E=yan=|
45719 [104% B ER® HY (BETIEARL) 7R19H - L
45720 [30f% 7k BREREMEN HY (BETIEAWL) 7A19H HY BilzN: =]
45721 [204% og KT HY (BETIEARL) 7TR17H - E=van=|
45722 |10m A (2% BRREMEN HY (BETIEAWL) 7A15H HY) 5L
45723 [304% B ER® HY (BETIEARL) 7TR17H - E=van=|
45724 |304% 7k BRREMEN HY (BETIEAWL) 7A15H HY A
45725 |404% B SRR GEFTE HY (BETIEARL) 7R19H Y BEZ
45726 |104% S BREREMEN HY (BETIEAWL) 7A17H HY) 5L
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45727 |40F% S SRR T HY (BETIEAWL) 7H18H - E=yan=|
45728 |504% B S R RGEFTE HY (BETEARL) 7A19H Y E=vad=|
45729  [501% S BRREMERN HY (BETIEAWL) 7H20H - E=yan=|
45730 |10m%kiH |B1E S R RGEFTE HY (BETIEARL) 7R20H - L
45731 |10m A (2% by HY (BETIEAWL) 7HA19H HY) 5L
45732 |10m%KiH | B S R RGEFTE HY (BETIEARL) 7A19H - L
45733 |40% S by HY (BETIEAWL) 7A17H HY Eyan=|
45734 |404% 7 R HY (BETIEAL) 7818H &HY) Al N
45735  [30f% 7k by HY (BETIEAWL) 7H18H HY Eyan=|
45736 [70£% ik Kby HY (BETIEAWL) 7A19H HY L
45737 [80f% S BREREMEN IR 78208 HY) L
45738 |701% 7 SRR AT HlY (BETIEEW) 7TH19H »HY WN—h A ~7—
45739 |204% 7k EFH HY (BETIEARL) 78208 - W= A< —
45740 [304% B S R RGEFTE HY (BETIEARL) 7A19H - BE3
45741 |40f% 7k by HY (BETIEAWL) 7A19H - SilzN:g=]
45742 [204% og SRR T HY (BETIEARL) 7R19H - E=van=|
45743 [501% 7k BRREMEN HY (BETIEAWL) 7H20H - Eyan=|
45744 |404% Bk NIEFH HY (BETIEARL) 7R20H - N3]
45745 |104% S NEFH HY (BETIEAWL) 7HA19H - L
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45746  |104% Egs NEFH HY (BETIEAWL) 78208 - L
45747 |10 EE | B N\BEFE HY (BETIEAWL) 78208 - L
45748 |40f% 7k EIR™ HY (BETIEAWL) 78208 - W= A< —
45749 [104% B ER® HY (BETIEARL) 7R20H - L
45750 |401% 7k EIR™ HY (BETIEAWL) 7H20H HY (HF - REMEKL6ET) BilzN: 9=
45751 |10m%Ki |BIE T HY (BETIEARWL) 7R15H HY L
45752 |40f% 7k SRR T HY (BETIEAWL) 7H18H HY) 5L
45753  |404% St SRR AT HlY (BETIEEW) 7TH19H &HY) N 3=
45754 |204% S BRREMERN HY (BETIEAWL) 7A15H HY BEx
45755 |10/ k0w &M BRREFMEN HY (BETIEAWL) 7818H HY L
45756  [304% pog BRRBEIEN HY (BETIEARL) 7R 18H ) AL
45757 |10m%Ki |BIE S R RGEFTE SRR 7R20H HY (F#K173) B L
45758 |601% pog BRRBEIEN HY (BETIEARL) 7R208 HY (BEENERST) NR—b & A <—
45759 [70% ik SR ET HY (BETEEW) 78208 HY (SEEMERLT) SifzN:4]
45760 |401% 7k BRREMEN HY (BETIEAWL) 7H20H HY BEx
45761 |704% B S R RGEFTE SRR 7R20H ) BEZ
45762 |70% 7k BRREMEN HY (BETIEAWL) 7H20H HY BEx
45763 |604% B SRR GEFTE HY (BETIEARL) 7R20H Y E=vad=|
45764 |10 A |B1E SRR T HY (BETIEAWL) 7HA19H - L
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45765 |104% 7k BRREMERN HY (BETIEAWL) 7HA19H HY) 5L
45766 |10m%KiH |BIE S SRR E HY (BETEARL) 7R18H HY L
45767 |10m A |B1E BRREMEN HY (BETIEAEWL) 7A19H HY (HF - REMEK1L68) %L
45768 |10m%KiH |BIE SRR T HY (BETIEARL) 7R17H HY (BB - RBEMERL68) L
45769 |10/ K |zt ] FRER 7TH19H HY (HE - RENEXL68) 7L
45770 |10m%KiH | B S R RGEFTE HY (BETIEARL) 7R 18H HY (F#K173) B L
45771 |504% S EIR™ HY (BETIEAWL) 7A19H - E=yan=|
45772 [10£% ik Kby HY (BETIEAWL) 7A18H - L
45773 |20% S ft&m HY (BETIEAWL) 7H18H - E=yan=|
45774 [204% og R R R T E HY (BETEARL) 7R 18H ) E=vad=|
45775  |40% 7k HEREFTE N HY (BETIEAWL) 7HA18H - Sz =]
45776 |104% B R ER R T B HY (BETIEARL) 7A19H HY L
45777  |40% 7 s HY (BETIEAWL) 7H19H HY A
45778 |104% 24 vt HY (BETIEAEL) 7819H &HY) mL
45779  [30f% SE =BT HY (BETIEAWL) 7H18H HY Eyan=|
45780 |704% Bk R=EFH HY (BETIEARL) 7R15H Y E=van=|
45781  |40% SE =ET R 7A19H HY Eyan=|
45782 |204% 24 bt HY (BETIEAWL) 7816H &HY) =ft8
45783 (601X S ft&m HY (BETIEAWL) 7A19H HY N
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45784 601X 7k ft&m HY (BETIEAWL) 7A17H HY BilzN: =]
45785 [204% og fe&m HY (BETEARL) 7R 18H Y E=vad=|
45786 |401% 7k ft&m HY (BETIEAWL) 7H18H HY Eyan=|
45787 |704% B ft&m HY (BETIEARL) 7TR17H Y BEZ
45788 |104% 7 s HY (BETIEAWL) 7H19H HY) 5L
45789  [304% og R ER R B HY (BETIEARL) 7R 18H Y EilzN=3=}
45790 [504% pog fesm HY (BETIEARL) 7R 18H ) NR— k& <—
45791 [504% B ft&m HY (BETIEARL) 7R 18H Y EilzN=3=}
45792 |204% SE s HY (BETIEAWL) 7A16H HY Eyan=|
45793  |404% Bt = | il HY (BETEARL) 7R 18H - E=zan=|
45794  [30f% 7 s HY (BETIEAWL) 7A19H HY Eyan=|
45795 [10f% ik P (%=l HY (BETIEAWL) 78198 HY L
45796  |40f% SE s HY (BETIEAWL) 7A17H - E=yan=|
45797 |104% B ft&m HY (BETIEARL) 7R 16H HY) (ZBE—VEBALL) L
45798 |10m A0 |B1E s HY (BETIEAWL) 7H18H HY) L
45799 |404% B ft&m HY (BETIEARL) 7R 16H - E=van=|
45800 [40f% g S|t HY (BETIEARL) 7R178 HY E=vad=|
45801 |10m%ki |B1E & | il HY (BETIEARL) 7R19H HY L
45802 |104% 7k HEREFTE N HY (BETIEAWL) 7H18H HY) 5L
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45803 [501% pog fesm HY (BETIEARL) 7A198 HY £Ht8
45804 [504% Bt = | il HY (BETEARL) 7R17H Y E=vad=|
45805 [201% B fesm HY (BETIEARL) 7A16H HY N3]
45806 |201% B vt HY (BFETIEAL) 7TH19H »Hl) =ft8
45807 |10m A |Z1E s HY (BETIEAWL) 7HA19H HY) 5L
45808 [404% B ft&m HY (BETIEARL) 7R 16H Y E=van=|
45809 [20% pog fesm HY (BETIEARL) 7A198 - NEE
45810 [204% B ft&m HY (BETIEARL) 7R 16H HY) (ZBE—VEBALL) L
45811 |301% 7k ft&m HY (BETIEAWL) 7A19H HY BEx
45812 [304% B ft&m HY (BETEARL) 7R 19H ) E=vad=|
45813 |10m A |B1E ft&m HY (BETIEAWL) 7H18H HY) 5L
45814 [204% B ft&m HY (BETIEARL) 7R 18H - L
45815 |401% S HEREFTE N HY (BETIEAWL) 7A19H HY Eyan=|
45816  [501% B ft&m HY (BETIEARL) 7R 18H - BE3
45817 |201% S ft&m HY (BETIEAWL) 7A17H HY Eyan=|
45818 [501% otk R=EFH HY (BETIEARL) 7R19H - BE3
45819 [304% B e HY (BETIEARL) 7R18H - £Ht8
45820 [504% pog R ER R T E HY (BETIEARL) 7R 18H Y E=vad=|
45821 |20% 7k ft&m HY (BETIEAWL) 7H18H HY Eyan=|
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45822 [20£% St B (EEM) HY (BETIEAWL) 7H18H HY N3]
45823  [304% og fe&m HY (BETEARL) 7R17H HY L
45824 |301% S ft&m HY (BETIEAWL) 7A19H HY Eyan=|
45825 |204% 7 HEMRIEFTEN HY (BETEEW) 7H19H - E=gan=|
45826 |10m A 2% ft&m HY (BETIEAWL) 7A17H HY) 5L
45827 |304% 24 vt HY (BFETIEAL) 7818H &HY) =ft8
45828 |401% SE s HY (BETIEAWL) 7A19H HY Eyan=|
45829 |10m%RiH |t EFH HY (BETIEARL) 7R 18H HY L
45830 [20£% g S|t HY (BETIEARL) 7R18H - £it8
45831 [504% Bk R=EFH HY (BETEARL) 7R 19H ) HE¥
45832 |20% 7 s HY (BETIEAWL) 7A19H HY BilzN: =]
45833 [704% otk ks HY (BETIEARL) 7R19H - L
45834 [501% Bk S|t HY (BETIEARL) 7R18H HY £Ht8
45835 |204% S HEMRIEFTEN HY (BETEEW) 7H19H HY) BEX
45836 [501% g S|t HY (BETIEARL) 7A198 HY E=vad=|
45837 |404% otk ks HY (BETIEARL) 7R19H - L
45838 [301% pog R ER R AT E A HY (BETIEARL) 7R17H HY N3]
45839  [304% otk ks HY (BETIEARL) 7R 18H - E=vag=|
45840 |601% pog fesm HY (BETIEARL) 7A19AR ) NR— k& <—
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45841 |301% 7 s HY (BETIEAWL) 7A16H HY) 5L
45842 [204% B R ER (R B HY (BETEARL) 7R20H - E=zan=|
45843 |601% B fesm HY (BETIEARL) 7A198 HY £Ht8
45844  |504% 24 vt HY (BFETIEAL) 7TH19H &HY) N 3=
45845 [501% Bk S|t HY (BETIEARL) 7R18H - £it8
45846  |401% B R ER R B HY (BETIEARL) 7R17H - E=van=|
45847 |50% 7k HEREFTE N HY (BETIEAWL) 7HA19H HY A
45848 |601% 24 =™ HY (BETIEAL) 7819H - N 3=
45849  |40% S HEREFTE N HY (BETIEAWL) 7A19H HY Eyan=|
45850 |304% 24 bt HY (BETIEAEWL) 7819H &HY) =ft8
45851 |104% 7k HEREFTE N HY (BETIEAWL) 7HA19H HY) 5L
45852  [504% og R ER R T B HY (BETIEARL) 7R17H - BileS:a=]
45853 [10£% B fesm HY (BETIEARL) 7A19AR ) AL
45854 |10/ A | 2% & HY (BETIEAEL) 7H19H HY 7% L
45855 [304% pog e HY (BETIEARL) 7A198 HY EilzN:3=]
45856 |10/ A& | 2% & HY (BETIEAEL) 7H20H HY 7% L
45857 |604% pog e HY (BETIEARL) 7R208 HY HEZ
45858 [704% B ft&m HY (BETIEARL) 7R17H Y BEZ
45859 [304% pog fesm HY (BETIEARL) 7A198 HY HEZ
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45860 [301% B fesm HY (BETIEARL) 7A198 HY N3]
45861 |404% B ft&m HY (BETEARL) 7R 19H Y E=vad=|
45862 |501% pog fesm HY (BETIEARL) 7A16H - BE¥
45863 |10m%RiH |t ks HY (BETIEARL) 7A19H HY L
45864 [301% Bk S|t HY (BETIEARL) 7A198 HY £Ht8
45865 |401% B vt HY (BFETIEAL) 7TH19H »Hl) =ft8
45866 |40t g S|t HY (BETIEARL) 7A19AR ) AL
45867 |104% 24 vt HY (BETIEAL) 7819H &HY) mL
45868 |10m%kiH | B4 S|t HY (BETIEARL) 7R20H ) AL
45869 |304% B kLt HY (BETIEAEWL) 7H18H &HY) N 3=
45870 |201% SE s HY (BETIEAWL) 7A19H HY Eyan=|
45871 |104% 24 vt HY (BETIEAL) 7819H &HY) mL
45872 |304% 7 s HY (BETIEAWL) 7A19H HY BilzN: =]
45873 |104% B kLt HY (BETIEAEL) 7819H &HY) mL
45874 |10m A0 |Z1E s HY (BETIEAWL) 7HA19H HY) L
45875 [10% S tE HY (BETIEAWL) 7A18H HY L
45876 |601% B R ER R AT E A HY (BETIEARL) 7A198 HY EilzN:3=]
45877 [204% pog e HY (BETIEARL) 7R17H Y E=vad=|
45878 |201% S ft&m HY (BETIEAWL) 7A19H HY BilzN: =]
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45879 |504% Bk fesm HY (BETIEARL) 7R 18H ) ey
45880 [204% otk fesm Y (BETIEAR) 7R15H HY (RF—VEHLL) L
45881 [20% S f£5H HY (BETIEAWL) 7H18H HY (RR—ViEENL4) L
45882 [104% B & Y (BETIEARW) 7R 16H HY (RR—VEHLL) Bl
45883 [20% Egs f£5H HY (BETIEAWL) 7A17H HY (RR—ViEENL4) L
45884 [204% otk fesm Y (BETIEARW) 7TR17H ) £#8
45885 |70t i et HY (BETIEARL) 7R17H - AL
45886 |704% Bt ks Y (BETIEARW) 7TR17H — Bl
45887 |304% B4 et HY (BETIEARL) 7R 16H - E-van=|
45888 [301% Bt ks Y (BETIEAR) 7R17H ) £#8
45889 |10t i et HY (BETIEARL) 7R17H - AL
45890 [204% Bt ks Y (BETIEARW) 7R 16H - =#8
45891 |504% B4 et HY (BETIEARL) 7R 16H ) Eevad=|
45892  [804% g3 et Y (BETIEARW) 7R 18H &) L
45893 (201t B4 et HY (BETIEARL) 7A19AR ) ey
45894 |204% St L&Em HY (BETEEW) 7H15H HY) =ft8
45895 |10t B4 et HY (BETIEARL) 7B20H - i L
45896 [301% g3 et Y (EETIEAR) 7R 18H &) L
45897 |70% S (=il HY (BETIEAWL) 7H17H - L
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45898 [801% g S|t HY (BETIEARL) 7A19AR ) AL
45899 [304% og fe&m HY (BETEARL) 7R 19H - E=zan=|
45900 |601% pog R ERR AT E HY (BETIEARL) 7R20H ) AL
45901 [104% B R ER R B HY (BETIEARL) 7A19H HY L
45902 |601% pog fesm HY (BETIEARL) 7A19AR ) AL
45903 |404% B kLt HY (BFETIEAL) 7818H &HY) BilzNia=]
45904 |104% 7k ft&m HY (BETIEAWL) 7H19H HY) 5L
45905 |501% B vt HY (BETIEAL) 7TH19H »Hl) =ft8
45906 |40t g S|t HY (BETIEARL) 7A198 HY EilzN:3s]
45907 [104% B ft&m HY (BETEARL) 7R 19H HY L
45908 [501% pog R ERR AT E HY (BETIEARL) 7R178 - BE¥
45909 |404% Bt & | il HY (BETIEARL) 7R19H - E=van=|
45910 |10mAH |ZE =BT HY (BETIEAWL) 7A16H HY) 5L
45911 |10m%Ri |tk R=EFH HY (BETIEARL) 7R17H HY L
45912  |40f% SE s HY (BETIEAWL) 7A19H HY Eyan=|
45913 [704% B R ER R T B HY (BETIEARL) 7R17H HY L
45914  |40f% 7k HEREFTE N HY (BETIEAWL) 7A17H HY Eyan=|
45915  |104% B bt HY (BETIEAWL) 7H18H »l) =ft8
45916 |701% 7 s HY (BETIEAWL) 7A15H - TR Ak
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45917  |40f% SE =BT HY (BETIEAWL) 7A19H - RNBE

45918 [304% og fe&m HY (BETEARL) 7R20H - NS

45919 |104% SE s HY (BETIEAWL) 7H19H HY) 5L

45920 |404% og R ER R B HY (BETIEARL) 7A19H - N3]

45921 |10m A0 |Z1E HEREFTE N HY (BETIEAEWL) 78208 HY) L

45922 |604% otk ks HY (BETIEARL) 7R19H HY NR— b & A< —
45923  |40f% S ft&m HY (BETIEAWL) 7A19H - E=yan=|

45924  [504% og fe&m HY (BETIEARL) 7TR17H - BE3

45925 |401% SE =BT HY (BETIEAWL) 7A15H HY Eyan=|

45926  [304% og fe&m HY (BETEARL) 7R 16H HY L

45927 |10m A0 (2% s HY (BETIEAWL) 7A17H HY) 5L

45928 |601% S = HY (BETIEAL) 7TH19H »Hl) =ft8

45929 |201% 7k ft&m HY (BETIEAWL) 7A19H HY Eyan=|

45930 [104% og fe&m HY (BETIEARL) 7R14H - L

45931 [304% B e HY (BETIEARL) 7A198 - £Ht8

45932 |404% og fe&m HY (BETIEARL) 7R 18H HY NR— b & A< —
45933  [501% pog e HY (BETIEARL) 7R17H ) NR— k& <—
45934 |204% 24 =™ HY (BETIEAWL) 7H20H &HY) N 3=

45935 [70£% Bk S|t HY (BETIEARL) 7R18H - BE¥
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45936 [201% pog R ERR AT E HY (BETIEARL) 7R208 HY £Ht8
45937 |401% B bt HY (BETIEAEWL) 7H19H »l) =ft8
45938 [304% Bk S|t HY (BETIEARL) 7A198 HY £Ht8
45939  [504% Bt & | il HY (BETIEARL) 7R19H - E=van=|
45940 |201% 7 s HY (BETIEAWL) 7H18H - L
45941 [304% og R ER R B HY (BETIEARL) 7R17H HY L
45942  |401% 7k ft&m HY (BETIEAWL) 7A17H HY BilzN: =]
45943 |504% 24 vt HY (BETIEAL) 7TRA17H &HY) N 3=
45944 |604% 7k HEREFTE N HY (BETIEAWL) 7H18H HY) 5L
45945 |304% 24 bt HY (BETIEAEWL) 7819H &HY) BilZNi3=]
45946  |501% B fesm HY (BETIEARL) 7A198 - £it8
45947 |604% og R ER R T B HY (BETIEARL) 7R 18H Y EilzN=3=}
45948 |70% S ft&m HY (BETIEAWL) 7A16H HY BEx
45949  [704% B ft&m HY (BETIEARL) 7R 18H HY L
45950 [304% g EFH HY (BETIEARL) 7A198 HY EilzN:3=]
45951 [104% otk R=EFH HY (BETIEARL) 7R 18H - L
45952  [801% B e HY (BETIEARL) 7R17H - AL
45953 [104% pog e HY (BETIEARL) 7R19H HY L
45954  [304% Bk EHH HY (BETIEARL) 7A198 HY £Ht8
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45955  [304% g EFH HY (BETIEARL) 7A198 HY HEZ

45956  |404% og fe&m HY (BETEARL) 7R 19H Y BEZ

45957 [304% g EIFH HY (BETIEARL) 7A198 HY £Ht8

45958 [204% B R ER R B HY (BETIEARL) 7R 18H - E=van=|

45959 [20£% Bk S|t HY (BETIEARL) 7R18H - £it8

45960 [304% B ft&m HY (BETIEARL) 7R20H Y E=van=|

45961 [304% pog fesm HY (BETIEARL) 7A198 HY ELN S

45962 [204% Bt & | il HY (BETIEARL) 7R 18H - E=van=|

45963 [70£% pog L& FEAEIR 7R 20H - AL

45964 [104% og fe&m HY (BETEARL) 7R 18H HY L

45965 [10£% B fesm HY (BETIEARL) 7A19AR ) AL

45966  |601% og fe&m HY (BETIEARL) 7R 18H Y FEnFK

45967 |104% SE s HY (BETIEAWL) 7H18H HY) 5L

45968 [204% Bt & | il HY (BETIEARL) 7R 18H - E=van=|

45969 [301% B e HY (BETIEARL) 7R18H HY E=vad=|

45970 [204% otk ks HY (BETIEARL) 7R19H HY NR— b & A< —
45971 |30f% S HEREFTE N HY (BETIEAWL) 7A19H - Eyan=|

45972 |404% B R ER R T E HY (BETIEARL) 7TA198 Y NS

45973  [504% B fesm HY (BETIEARL) 7A198 - £it8
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45974 |20% SE s HY (BETIEAWL) 7H18H HY Eyan=|
45975 [20% i ks HY (BETIEAWL) 7A18H - L
45976  |401% 7k HEREFTE N HY (BETIEAWL) 7A19H HY RNIE
45977 |204% 24 vt HY (BFETIEAL) 7TH19H &HY) N 3=
45978 |104% 7k ft&m HY (BETIEAWL) 7H19H HY TSk
45979  |10m% A |2 & HY (BFETIEAL) 7H20H HY 7% L
45980 |601% B fesm HY (BETIEARL) 7A198 HY £Ht8
45981 |10m%kiH |BIE ft&m HY (BETIEARL) 7A19H HY L
45982 |10f% 7k ft&m HY (BETIEAWL) 7H19H HY) 5L
45983 [304% otk ks HY (BETEARL) 7R 19H ) E=vad=|
45984  |401% 7k ft&m HY (BETIEAWL) 7A17H - Sz =]
45985 [204% B ft&m HY (BETIEARL) 7R19H - E=van=|
45986 [201% Bk S|t HY (BETIEARL) 7R208 - £it8
45987 [104% og fe&m HY (BETIEARL) 7R19H HY L
45988 [301% pog e HY (BETIEARL) 7R18H HY HEZ
45989 [304% B ft&m HY (BETIEARL) 7R20H Y BEZ
45990 |10m%kKiH | B S|t HY (BETIEARL) 7R20H - AL
45991 [304% pog e HY (BETIEARL) 7TA198 Y NS
45992  |40f% 7 s HY (BETIEAWL) 78208 - L
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45993 |10t g EFH HY (BETIEARL) 7R13H ) AL
45994  [304% otk ks HY (BETEARL) 7R 19H - E=zan=|
45995 [304% Bk S|t HY (BETIEARL) 7A198 - NEE
45996 [104% og fe&m HY (BETIEARL) 7R19H - L
45997 |20% 7k ft&m HY (BETIEAWL) 7H18H - W= A< —
45998 [704% og R ER R B HY (BETIEARL) 7R20H - L
45999 |70t g S|t HY (BETIEARL) 7A19AR ) AL
46000 [304% B R ER R T B HY (BETIEARL) 7R15H Y FEnFK
46001 [304% pog R ERR AT E HY (BETIEARL) 7A198 - EilzNa=]
46002 |504% 24 bt HY (BETIEAEWL) 78208 &HY) BilZNi3=]
46003 [304% pog fesm HY (BETIEARL) 7A198 HY N3]
46004 [704% B R ER R T B HY (BETIEARL) 7A19H Y FEnFK
46005 [10£% pog fesm HY (BETIEARL) 7A19AR - AL
46006 [501% og R ER R T B HY (BETIEARL) 7R20H Y E=van=|
46007 |201% S ft&m HY (BETIEAWL) 7H19H HY) L
46008 [501% B ft&m HY (BETIEARL) 7R19H Y E=van=|
46009 |10t B e HY (BETIEARL) 7R17H HY AL
46010 [104% B ft&m HY (BETIEARL) 7R19H HY L
46011 |104% 7k ft&m HY (BETIEAWL) 7A16H - L
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46012 |501% S ft&m HY (BETIEAWL) 7A19H HY N
46013 [704% B ft&m HY (BETEARL) 7R17H Y E=vad=|
46014 |101% S ft&m HY (BETIEAWL) 7H18H HY) 5L
46015 [104% og fe&m HY (BETIEARL) 7R 18H HY L
46016 |301% B bt HY (BFETIEAEL) TH19H »HY) =ft8
46017 [104% Bt & | il HY (BETIEARL) 7R 18H HY L
46018 |101% SE s HY (BETIEAWL) 7H18H HY) 5L
46019 |404% otk ks HY (BETIEARL) 7R 18H Y E=van=|
46020 |401% 7 s HY (BETIEAWL) 7H20H HY Eyan=|
46021 [104% og fe&m HY (BETEARL) 7R 18H - L
46022 |10f% S ft&m HY (BETIEAWL) 7A17H - L
46023 [204% Bt & | il HY (BETIEARL) 7R19H - E=van=|
46024 |20% SE s HY (BETIEAWL) 7A16H - E=yan=|
46025 [104% otk ks HY (BETIEARL) 7R 16H - L
46026 [301% B e HY (BETIEARL) 7A198 - £Ht8
46027 [304% Bk B4 (PEBREATEN) HY (BETEARWL) 7R 18H Y E=van=|
46028 [501% B e HY (BETIEARL) 7A198 HY E=vad=|
46029 |10m%RiH |2t e HY (BETIEARL) 7R19H HY L
46030 [10£% pog fesm HY (BETIEARL) 7A19AR ) AL
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46031 |101% 7k ft&m HY (BETIEAWL) 7H19H HY) 5L
46032 [104% og fe&m HY (BETEARL) 7R17H HY L
46033 [501% g S|t HY (BETIEARL) 7A19AR - AL
46034 [104% otk &7 I E] HY (BETIEARL) 7R 18H HY L
46035 |10m%KiH | B4 &7 I E] HY (BETIEARL) 7A19AH ) AL
46036 |401% Bk &7 I E] HY (BETIEARL) 7R 18H Y E=van=|
46037 [304% pog B HY (BETIEARL) 7R208 HY EilzN:3s]
46038 [301% og B HY (BETIEARL) 7R 18H - E=van=|
46039 [301% pog BN REEFTE P HY (BETIEARL) 7R15H - BE¥
46040 |10m%RH |t B HY (BETEARL) 7A19H - L
46041 |10f% 7k BN HY (BETIEAWL) 7H19H - L
46042 |10F%R |2t B HY (BETIEARL) 7R20H HY L
46043 |101% S BN HY (BETIEAWL) 78208 HY) 5L
46044 [204% B B HY (BETIEARL) 7R15H Y E=van=|
46045 |401% 7k BN HY (BETIEAWL) 7A19H HY Eyan=|
46046 |10m%KiH |BIE B HY (BETIEARL) 7R20H - L
46047 |104% S BN HY (BETIEAWL) 78208 HY) L
46048 [501% B B HY (BETIEARL) 7R19H - E=vag=|
46049 |201% S BN HY (BETIEAWL) 7H20H - E=yan=|
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46050 104X Sk BN HY (BFETIEAEL) 7H20H o) 7wl
46051 [104% og B HY (BETEARL) 7R20H - L
46052 |101% 7k BN HY (BETIEAWL) 7H18H HY) 5L
46053 [404% otk &7 I E] HY (BETIEARL) 7R20H HY NR— b & A< —
46054 [304% pog B HY (BETIEARL) 7R208 HY N3]
46055 [304% og B HY (BETIEARL) 7R19H Y E=van=|
46056 [301% B B HY (BETIEARL) 7R208 HY £Ht8
46057 |504% St BN HY (BETIEAL) 7TH19H &HY) N 3=
46058 101X Sk BN HY (BFETIEAEL) 7H20H o) 7wl
46059 |404% og B HY (BETEARL) 7R20H ) E=vad=|
46060 [501% B &7 I E] HY (BETIEARL) 7R18H HY £Ht8
46061 [204% B BN REERTE HY (BETIEARL) 7A19H Y E=van=|
46062 |201% 7k & /7 I ET HY (BETIEAWL) 7A16H - E=yan=|
46063 [204% Bk &7 I E] HY (BETIEARL) 7R17H HY L
46064 |10m A |H1E BN REEFTE A HY (BETIEAWL) 7H19H - L
46065 |601% Bk &7 I E] HY (BETIEARL) 7A19H Y E=van=|
46066 [201% B BN HY (BETIEARL) 7A198 - EilzN3=}
46067 |501% pog B HY (BETIEARL) 7R19H - NR— b & A <—
46068 |10m%KiH |4 BN HY (BETIEARL) 7R20H ) AL
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46069 [301% pog BN REEFTE P HY (BETIEARL) 7R208 - ELN S
46070 |604% og B HY (BETEARL) 7R 19H - L
46071 |10m A |B1E BN HY (BETIEAWL) 78208 HY) 5L
46072 |404% B BN REERTE HY (BETIEARL) 7R20H Y E=van=|
46073 |401% 7k BN HY (BETIEAWL) 7H20H HY BilzN: =]
46074 |604% St BN HY (BFETIEAL) 78218 - SilZNi3=]
46075 |401% 7k BN REEFTE A HY (BETIEAWL) 7H20H HY Eyan=|
46076 |601% B BN REERTE HY (BETIEARL) 7R20H - E=van=|
46077 |104% 7k BN HY (BETIEAWL) 78218 HY) 5L
46078 |404% og B HY (BETEARL) 7R20H - NR— b & A <—
46079 |501% Sk BN HY (BFETIEAEL) TH20H »HY) =ft8
46080 |504% 7 BN HY (BETIEAL) 78208 &HY) BilzNia=]
46081 |10 A |H1E & /7 I ET HY (BETIEAWL) 7HA19H HY) 5L
46082 |10m%Ri |t &7 I E] HY (BETIEARL) 7A19H HY L
46083 |10m%KiH | B BN HY (BETIEARL) 7A19AH ) AL
46084 |401% B B HY (BETIEARL) 7R19H Y E=van=|
46085 |40t pog BN HY (BETIEARL) 7A19AR ) NR— k& <—
46086 |204% 7 BN HY (BETIEAWL) 78208 - SilZNi3=]
46087 [304% B B HY (BETIEARL) 7R208 HY £Ht8
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46088 401X Sk BN HY (BFETIEAEL) TH20H »HY) =ft8

46089 [104% B B HY (BETEARL) 7R20H HY (F#%178) L

46090 [10£% pog B HY (BETIEARL) 7R 20H ) AL

46091 [604% og B HY (BETIEARL) 7R20H - BE3

46092 [304% pog B HY (BETIEARL) 7A19AR ) AL

46093 [104% og B HY (BETIEARL) 7R21H - L

46094 |40% 7k BN REEFTE A HY (BETIEAWL) 7A19H - E=yan=|

46095 [304% og B HY (BETIEARL) 7R20H HY NR— b & A< —
46096 [301% pog B HY (BETIEARL) 7R208 HY £Ht8

46097 [204% B B HY (BETEARL) 7R20H - L

46098 [301% pog B HY (BETIEARL) 7R208 - £it8

46099 [404% og B HY (BETIEARL) 7R20H Y E=van=|

46100 |401% S BN HY (BETIEAWL) 7H20H HY RNIE

46101 [204% B B HY (BETIEARL) 7R20H HY L

46102 |201% S BN HY (BETIEAWL) 7H20H HY Eyan=|

46103 [304% B BN REERTE HY (BETIEARL) 7A19H Y E=van=|

46104 [601% S BN HY (BETIEAWL) 7H20H HY Eyan=|

46105 |10m%KiH |B1E B ) HY (BETIEARL) 7R21H HY L

46106 |101% S BN HY (BETIEAWL) 7H20H HY Eyan=|
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46107 [601% 7k BN HY (BETIEAWL) 7H20H - E=yan=|
46108 [304% og B HY (BETEARL) 7R 19H HY NR— b &AL <—
46109 |201% 7k BN HY (BETIEAWL) 7H20H HY BilzN: =]
46110 |504% 7 BN HY (BFETIEAL) 7818H &HY) BilzNia=]
46111 |10m A0 |B1E BN HY (BETIEAWL) 78208 HY) 5L
46112  |10m%KiH | B &7 I E] HY (BETIEARL) 7R17H HY L
46113 |401% S BN HY (BETIEAWL) 7H20H - Sz =]
46114 [104% B B HY (BETIEARL) 7R 16H HY L
46115 |10m A0 |Z1E & /7 I ET HY (BETIEAWL) 78208 HY) 5L
46116 [104% og BN REERTE HY (BETEARL) 7R20H - E=zan=|
46117 |204% 7k BN REEFTE A HY (BETIEAWL) 7H20H HY Eyan=|
46118 [104% og BN REERTE HY (BETIEARL) 7R20H HY L
46119 [501% 7k BN REEFTE A HY (BETIEAWL) 78208 HY A
46120 [304% B B HY (BETIEARL) 7R20H Y E=van=|
46121 |10m A (B BN HY (BETIEAWL) 78218 HY) L
46122 [204% og B HY (BETIEARL) 7R19H - L
46123  [30f% 7k BN HY (BETIEAWL) 7H20H HY BEx
46124 |604% B B HY (BETIEARL) 7R20H HY NR— b &AL <—
46125 [30f% 7k BN HY (BETIEAWL) 7H20H HY BilzN: =]
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46126 [30f% S BN HY (BETIEAWL) 7H20H HY BilzN: =]
46127 |10F%RT |2t B HY (BETEARL) 7R21H HY L
46128 [30f% 7k BN HY (BETIEAWL) 7H20H - E=yan=|
46129 |404% 24 &7 I HT HY (BFETIEAL) 78218 &HY) BilzNia=]
46130 [30f% 7k BN HY (BETIEAWL) 7A19H HY BilzN: =]
46131 [304% B B HY (BETIEARL) 7R20H Y E=van=|
46132 |40% 7k BN HY (BETIEAWL) 7H18H HY Eyan=|
46133 |404% og BN REERTE HY (BETIEARL) 7R21H Y EilzN=3=}
46134 |104% 7k —Eh HY (BETIEAWL) 7H20H HY (F1176) 7L
46135 [504% og —Bah HY (BETEARL) 7R 19H HY L
46136 |501% B —Bh HY (BETIEARL) 7R178 HY £Ht8
46137 [804% og —Bah HY (BETIEARL) 7TR17H HY L
46138 |201% 7k —Eh HY (BETIEAWL) 7H20H HY RNIE
46139 |10m%RiH |t —Bah HY (BETIEARL) 7R12H HY L
46140 [30f% S —Eh HY (BETIEAWL) 7H20H HY SilzN:g=]
46141 [504% B —BHREFTE M HY (BETIEARL) 7R21H Y BileS:a=]
46142 |204% 7k —BREFFEA HY (BETIEAWL) 78208 - W= A< —
46143 [304% pog 24 (—Fh) HY (BETIEARWL) 7R20H HY (SmEHEXT0) #L
46144 |104% 7k —Eh HY (BETIEAWL) 7H19H - L
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46145 [30f% 7k —Eh HY (BETIEAWL) 7H821H - E=yan=|
46146 |10m%RiH |2t —Bah HY (BETEARL) 7A19H HY L
46147 |40F% S —Eh HY (BETIEAWL) 7H821H - E=yan=|
46148 |601% B —Bgmh HY (BETIEARL) 7R20H HY (SinEHEX66) AL
46149 |704% S iR ET HY (BETIEAWL) 7H20H - BEX
46150 |604% B —Bgmh HY (BETIEARL) 7R19H - BileS:a=]
46151 [50f% S —Eh HY (BETIEAWL) 7H20H HY Eyan=|
46152 |104% St IR AT HlY (BETIEEW) 78218 &HY) mL
46153  [501% S —Eh HY (BETIEAWL) 7H20H - E=yan=|
46154 [104% og —Bah HY (BETEARL) 7R 19H ) E=vad=|
46155 |201% S —Eh HY (BETIEAWL) 7A16H HY Eyan=|
46156 |404% og —Bah HY (BETIEARL) 7R19H Y TILNA b
46157 |104% S —Eh HY (BETIEAWL) 78208 - L
46158 [204% og —Bah HY (BETIEARL) 7R20H HY L
46159 |10m A |Z1E —Eh HY (BETIEAWL) 7A17H HY) L
46160 |601% B —Bgmh HY (BETIEARL) 7R20H Y E=van=|
46161 [501% S —Eh HY (BETIEAWL) 7H20H HY Eyan=|
46162 [204% pog —Bah HY (BETIEARL) 7R21H Y BEZ
46163 [301% B —Bh HY (BETIEARL) 7R218 HY HEZ
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46164 [801% pog —Bh FEAEIR 7R21RH HY AL
46165 |10F%RiH |t —Bah HY (BETEARL) 7R20H HY L
46166 [601% S —Eh HY (BETIEAWL) 7H18H HY BEx
46167 [204% B —Bgmh HY (BETIEARL) 7R20H Y E=van=|
46168 [501% B —Bh HY (BETIEARL) 7R218 HY £Ht8
46169 |504% 7 —Bm HY (BFETIEAL) 78208 - SilZNi3=]
46170 [50f% 7k —Eh HY (BETIEAWL) 78208 - W= A< —
46171 [504% og —Bah HY (BETIEARL) 7R20H HY NR— b & A< —
46172 [304% pog —Bh FEAEIR 7A218 HY (BEERERT0) EilzNa=]
46173 |10m%KiH | B —Bgmh HY (BETEARL) 7R21H - L
46174 |104% S —Eh HY (BETIEAWL) 7H20H HY (F#1176) 7L
46175 |404% 7 —Bm HY (BETIEAL) 78208 - N 3=
46176 |40% S —Eh HY (BETIEAWL) 7H20H HY RNIE
46177 |704% B —Bgmh HY (BETIEARL) 7TR17H - L
46178 [30f% 7k —Eh HY (BETIEAWL) 7H20H HY SilzN:g=]
46179 |10F%RiH |2t —Bah HY (BETIEARL) 7R20H HY L
46180 |601% B —BREFTE M HY (BETIEARL) 7A198 HY E=vad=|
46181 [204% pog —Bah HY (BETIEARL) 7R19H - E=vag=|
46182 [30f% S —Eh HY (BETIEAWL) 7A19H - E=yan=|
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46183 [304% pog —Bh HY (BETIEARL) 7R17H - AL
46184 [204% og —Bah HY (BETEARL) 7R20H Y Eilzy=3=}
46185 [601% 7k —Eh HY (BETIEAWL) 7H20H - E=yan=|
46186 |401% og —Bah HY (BETIEARL) 7R19H Y E=van=|
46187 |70£% St 24 (—BIm) HY (BETIEAWL) 7H20H - L
46188 |501% 7 —BREMEN HY (BETEEW) 7H18H - BEX
46189 |801% i —BREMER HY (BETIEAEW) 7TH21H - BEx
46190 |3014% St —BREMENR HY (BETEEW) 7H21H - E=gan=|
46191 |601% S —BREFFEA HY (BETIEAWL) 7HA18H - Sz =]
46192 |604% og —Bah HY (BETEARL) 7R 16H HY L
46193 |704% 7k —BREFFEA HY (BETIEAWL) 78218 HY) 5L
46194 |404% S —Bmh HY (BETEEW) 7H20H HY) E=gan=|
46195 |401% S —Eh HY (BETIEAWL) 7H18H HY Eyan=|
46196 |3014% St —BREMENR HY (BETEEW) 7H20H - E=gan=|
46197 |20% 7k —Eh HY (BETIEAWL) 7H821H - RNBE
46198 [104% og —Bgmh SRR 7R21H HY L
46199 [50f% 7k KARET HY (BETIEAWL) 7HA18H HY Eyan=|
46200 |404% S KB ™ HY (BETEEW) 7H19H HY) E=gan=|
46201 |301% S RARET HY (BETIEAWL) 7H20H HY Eyan=|
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46202 |401% 7k RARET HY (BETIEAWL) 7H20H HY Eyan=|
46203 |10m%Ri |t KAET HY (BETEARL) 7R20H HY L
46204 |601% 7k RARET HY (BETIEAWL) 78208 HY) 5L
46205 |3014% S KB ™ HY (BETEEW) 7H20H HY) E=gan=|
46206 |601% pog AET HY (BETIEARL) 7A19AH - NR— & A <—
46207 |404% St KB ™ AR 7H21H HY) E=gan=|
46208 [301% pog AET HY (BETIEARL) 7R20H - AL
46209 |404% S KAERERTE A HY (BETEEW) 7H20H HY) E=gan=|
46210 [20% oy B4 (ZE™) HY (BETIEAWL) 7HA19H HY (RR—YEENLD) 248
46211 [304% og B4 (2HET) HY (BETEARL) 7R17H Hl) (ZBE—VEHA5) ilzy3=}
46212 [20£% St B4 (ZE™) HY (BETIEAWL) 7A15H HY (RR—VEENLD) BileNtd=]
46213 [204% B B4 (2HET) HY (BETIEARL) 7R17H Hl) (ZBE—VE5A5) HE¥
46214 |801% S ERRBAEN HY (BETIEAWL) 7HA19H HY) 5L
46215 |504% 7 ERREMEN HY (BETEEW) 7H19H HY) SifzNi9=]
46216 |401% S ERRBAEN HY (BETIEAWL) 7A19H - Eyan=|
46217 |404% 7 ERREMEN HY (BETEEW) 7H18H HY) SifzNi9=]
46218 |301% S ERRBAEN HY (BETIEAWL) 78208 HY TSk
46219 |604% 7 ERREMEN HY (BETEEW) 7H18H HY (B - REMERL64) Egad=|
46220 |601% 7k ERRBAEN HY (BETIEAWL) 7HA19H HY) 5L
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46221 [40£% oy BN (ZRREMEN) HY (BETIEAWL) 7HA19H HY (EEMmEEK22) BileNtd=]
46222 [804% og ZRREREN HY (BETEARL) 7R20H HY L
46223 (90U £ &tk EREREFEN HY (BFETIEAEL) TH20H HY) (EEMEK22) L
46224 |704% St ERREMEAN HY (BETEEW) 7H20H HY) (EEMmHK22) 5L
46225 |401% 7k ERRBAEN HY (BETIEAWL) 7A19H HY BilzN: =]
46226 |204% St ERREMEAN HY (BETEEW) 7H20H - E=gan=|
46227 |30% 7k ERRBAEN HY (BETIEAWL) 7H20H - Sz =]
46228 |801% St ERREMEN AR 7H21H HY (HE - REMERL64) 5L
46229 |40F% S ERRBAEN HY (BETIEAWL) 7H20H HY Eyan=|
46230 [104% og ZRREREN HY (BETEARL) 7R21H HY L
46231 |10m A0 (B EHREMERN HY (BETIEAWL) 78208 - L
46232 |404% S EHREMEAN HY (BETEEW) 7H20H - E=gan=|
46233  |40% 7k EHREMERN HY (BETIEAWL) 78208 - L
46234 [204% og =i h HY (BETIEARL) 7R20H - NR— b & A <—
46235 |201% S EHREMERN HY (BETIEAWL) 7H20H HY Eyan=|
46236 |10/ |21 EHREMEAN HY (BETEEW) 7H21H HY 3L
46237 |501% 7k EHREMERN HY (BETIEAWL) 7H20H - Eyan=|
46238 |104% S EHREMEN HY (BETEEW) 7H16H - 5L
46239 [501% pog =Eh HY (BETIEARL) 7R 16H ) AL
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46240 |201% 7k =hmh HY (BETIEAWL) 7A16H HY) 5L
46241 [304% og EEHREFTEN SRR 7R 19H HY (SEHEK59) BileS:a=]
46242 |50% S =hmh HY (BETIEAWL) 7A19H - RNBE
46243 |404% og =i h HY (BETIEARL) 7H18H Y NS
46244 |204% 7k EHREMERN HY (BETIEAWL) 78208 - L
46245 [704% B =Em HY (BETIEARL) 7R19H - AR
46246 |201% S EHREMERN HY (BETIEAWL) 7H20H - E=yan=|
46247 |104% og EEHREFEN HY (BETIEARL) 7R20H HY L
46248 [501% 7k EHREMERN HY (BETIEAWL) 7H20H HY RNIE
46249 [204% B EEREFTEN HY (BETEARL) 7R20H ) Eilzy=3=}
46250 |701% S EHREMERN HY (BETIEAWL) 7H20H - BEX
46251 [204% og =i h HY (BETIEARL) 7R20H HY NR— b & A< —
46252 |201% S EHREMERN HY (BETIEAWL) 7H20H HY BilzN: =]
46253 |10m%R |2t EEHREFREN SRR 7R21H HY (BB - RBEMER1L66) L
46254  [30% S =hmh HY (BETIEAWL) 7A19H - Eyan=|
46255 [204% B EEHREFEN HY (BETIEARL) 7R20H Y BileS:a=]
46256 [301% pog EEREFEN HY (BETIEARL) 7R178 HY EilzN:3=]
46257 |10m%R |t EEREFREN HY (BETIEARL) 7R20H HY (BB - RBEMER1L66) L
46258 [30f% S AT HY (BETIEAWL) 7H18H HY RNIE
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46259 [304% pog ARIREFTE N HY (BETIEARL) 7R 16H ) NR— k&< —
46260 |401% B AZEH HY (BETEARL) 7R 16H Y BEZ
46261 |201% S AFTH HY (BETIEAWL) 7H18H HY Eyan=|
46262 |10m%KiH |BIE AZEH HY (BETIEARL) 7R17H HY L
46263 |601% pog AFETH HY (BETIEARL) 7R 18H ) AL
46264 |601% B AZEH HY (BETIEARL) 7R 18H - E=van=|
46265 |10m A |Z1E ARREFIEA HY (BETIEAEWL) 7A17H - L
46266 [301% og ATEIRBEFTE N HY (BETIEARL) 7R17H - N3]

46267 |201% 7k A HY (BETIEAWL) 7H18H - E=yan=|
46268 |401% B FEBPET HY (BETEARL) 7R15H - NS
46269 |201% S AFTH HY (BETIEAWL) 7A17H - E=yan=|
46270 |304% 7 AT HY (BETIEAL) 7H18H &HY) N 3=
46271  |401% 7k AFTH HY (BETIEAWL) 7H18H HY Eyan=|
46272 |404% B ATEIRBEFTE N HY (BETIEARL) 7R 18H - E=van=|
46273 [601% S AR HY (BETIEAWL) 7A17H - SilzN:g=]
46274 |504% og ATEIRBEFTE N HY (BETIEARL) 7R 16H HY NR— b & A< —
46275 [80f% 7k ARREFIEA R 7H18H HY) 5L
46276 |404% pog AFETH HY (BETIEARL) 7R13H Y FEnF
46277 |104% S ARREFIEA HY (BETIEAWL) 7A17H HY) 5L
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46278 [501% S ARREFIEA HY (BETIEAWL) 7A19H HY Eyan=|
46279 [304% og ATEIRBEFTE N HY (BETEARL) 7R20H - E=zan=|
46280 |10m A |H1E AFTH HY (BETIEAWL) 7HA19H HY) 5L
46281 |801% St FEEFET HY (BFETIEAL) 7819H HY) (EEMmEHK23) mL
46282  [501% 7k ARREFIEA HY (BETIEAWL) 7HA18H - E=yan=|
46283 [501% og ATEIRBEFTE N HY (BETIEARL) 7A19H - E=van=|
46284 |40% 7k ARREFIEA HY (BETIEAWL) 7H18H HY A
46285 |601% B ATEIRBEFTE N HY (BETIEARL) 7A19H - E=van=|
46286 |401% S ARREFIEA HY (BETIEAWL) 7A17H HY Eyan=|
46287 |10m%KiH |BIE AZEH HY (BETEARL) 7R 18H HY L
46288 |10m A |H1E AFTH HY (BETIEAWL) 7H18H - L
46289 [204% og AFETH HY (BETIEARL) 7R19H - NR— b & A <—
46290 |10f% 7k AFTH HY (BETIEAWL) 7H18H - L
46291 [304% og ATEIRBEFTE N HY (BETIEARL) 7A19H HY NR— b & A< —
46292 [304% pog ARIREFTE N HY (BETIEARL) 7A198 HlY (FK172) ilzN:ds]
46293 |90 F |B M AZEH HY (BETIEARL) 7R20H HY (EEMHEKR23) L
46294 |104% S ARREFIEA HY (BETIEAWL) 7H20H HY (F®172) 7L
46295 |10m%KiH |BIE AZEH HY (BETIEARL) 7R20H HY L
46296 [501% pog ARIREFTE N HY (BETIEARL) 7A19AH - AL
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46297 |104% S ARREFIEA HY (BETIEAWL) 78208 HY) 5L
46298 [704% og AFETH HY (BETEARL) 7R 19H - L
46299 [30f% S AFTH HY (BETIEAWL) 7A19H - RNBE
46300 |10m%ki |B1E ATEIRBEFTE N HY (BETIEARL) 7R20H HY L
46301 |10m A |H1E ARREFIEA HY (BETIEAEWL) 7H18H - L
46302 |10m%KiH |BIE ATEIRBEFTE N HY (BETIEARL) 7A19H - L
46303 |10t B ARIREFTE N HY (BETIEARL) 7A19AH ) AL
46304 |404% og ATEIRBEFTE N HY (BETIEARL) 7A19H Y EilzN=3=}
46305 [401% pog ARIREFTE M HY (BETIEARL) 7R18H - £it8
46306 [304% og ATEIRBEFTE N HY (BETEARL) 7A19H - E=zan=|
46307 [501% pog AFETH HY (BETIEARL) 7A198 HY £Ht8
46308 [501% B AZEH HY (BETIEARL) 7R19H - E=van=|
46309 [304% B AFETH HY (BETIEARL) 7A198 HY N3]
46310 [204% B ATEIRBEFTE N HY (BETIEARL) 7R 18H Y BEZ
46311 |30f% 7k “FREFFER HY (BETIEAEW) 7H20H - RNBE
46312 [304% og —FH HY (BETIEARL) 7R18H Y E=vad=|
46313 |40% S —Fh HY (BETIEAWL) 7H20H HY Eyan=|
46314 |704% pog —FH HY (BETIEARWL) 7R20H HY L
46315 [304% Bk FET HY (BETIEARL) 7A198 - £it8
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46316 |10m A |H1E vl HY (BETIEAWL) 7A19H HY) 5L
46317 [304% og ekl HY (BETIEARL) 7R20H - BileS:a=]
46318 |10f% SE vl HY (BETIEAWL) 78208 HY) 5L
46319 |404% og —FH HY (BETIEARL) 7R17H Y Eilzy3=}
46320 |10f% S —Fh R 7H19H HY mL
46321 |604% og “FREFERN HY (BETIEARL) 7R19H HY N— bt & A <—
46322 |30f% 7 vl HY (BETIEAWL) 7H20H HY Eyan=|
46323 [304% og ekl HY (BETIEARL) 7R208 Y NS
46324 |10m A (2% vl HY (BETIEAWL) 78218 HY) 5L
46325 |10m%ki |BIE el HY (BETIEARL) 7R21H HY L
46326 [30f% S “FREFFEA HY (BETIEAEW) 7H20H HY Eyan=|
46327 |704% og —FREFERN HY (BETIEARL) 7R19H Y E=vad=|
46328 [104% pog —Fm HY (BETIEARL) 7A19AH ) AL
46329 [704% B —FREFERN HY (BETIEARL) 7R21H - E=van=|
46330 |401% 7k “FREFFER HY (BETIEAEW) 7H20H - Eyan=|
46331 [704% og —FH HY (BETIEARL) 7R 20 - L
46332 [501% B HFEH HY (BETIEARL) 7R208 HY £it8
46333 [204% B —FREFTERN HY (BETIEARL) 7A19H - E=vag=|
46334 [501% pog —FRMEATE N HY (EETIEARWL) 7A198 - NEE

-35-



36/36<—

= R MR EE#(GEL KR FAEH (£2) AR S
46335 [10£% g —F T HY (BETIEARL) 7A21RH HY AL
46336 |10m%ki |BIE el HY (BETIEARL) 7R20H HY L
46337 [301% g —F T HY (BETIEARL) 7R 20RH ) AL
46338 [301% B ekl HY (BETIEARW) 7R208 Y NS
46339 |10f% 7k —RFm HY (BETIEAEW) 78218 - L
46340 [501% B 2 S HY (BETIEARWL) 7R19H Y E=van=|
46341 |10m A |B1E K ET HY (BETIEAEW) 7H21H HY 3L
46342 |10m%R |2t —FH HY (BETIEARL) 7R19H HY AL
46343 |20% SE vl HY (BETIEAWL) 7H20H HY BEx
46344 |704% B —Fm HY (BETIEARL) 7R20H HY L
46345 |601% pog ERKMET HY (EETIEARWL) 7A18H HY TN Ak
46346 [801% og BT HY (BETIEARL) 7R 18H HY L
46347 |301% 7k B ET HY (BETIEAWL) 7H18H HY RNIE
46348 |10/ A& |21 (23 N) HY (BETIEAEL) 7H18H HY 7% L
46349  [80f% S —Fm HY (BETIEAEW) 7H20H HY BEx
46350 |10m%KiH |BIE —FREFERN HY (BETIEARL) 7R21H HY AL
46351 |10m A |Z1E “FREFFER HY (BETIEAEW) 78208 HY) 5L
46352 [204% B HhFEH HY (BETIEARL) 7R20H - E=vag=|
46353 |10m A0 |B1E “FREFFEA HY (BETIEAEW) 78218 HY) 5L
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